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= 85,226
< 22,176
Al 111,664
10 AL SXAIEEE 2 H EX 219,066 189,991 29,075
OREs0te 18 EHES 213,066,000& 213,066
= 85,226
< 19,176
Al 108,664
Oo0ts188 2g A& 6,000,000 6,000
< 3,000
Al 3,000
SSHEIE Ots N& 2,520 2,520 0
307 2Iztol ™ 2,520 2,520 0
11 AL S XAEE = 2,520 2,520 0
SSMHEIE Ot 234 a|
10,000& »21H 128 2,520
MAOE Oots XI& 15,840 15,840 0
301 L2 A3 15,840 13,600 2,240
01 Al EE X =56l = 13,600 13,600 0
OMAZ2E Ols 4L H=Hl
30,000 80 13 2,400
OMAZOE Otls 234l
10,000& 80 »12& 9,600
OMAZ2E Ols Heloleg &=l
20,000 80X 13 1,600
09 &ALAHI B &= 2,240 0 2,240
OMaZod Ots M=Us XA 2,240
—H=s= 25,0003 x80Y 13 2,000
— 2hAlH| 3,000& 80 *13] 240
OtsA=EAE 24 1,548,996 1,392,280 156,716
< 154,900
Al 1,394,096
307 21201 A 1,548,996 1,392,280 156,716
< 154,900
Al 1,394,096
10 M3 SXNANEHEI2IHEXR 1,548,996 1,392,280 156,716
O0tsLdsAd 29 1,548,996, 000& 1,548,996
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Al 64,260
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91,800 86,400 5,400
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76,433
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109,190,000& 109,190

32,757
76,433
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AN otsdH s5X=<0l 705,120 597,996 107,124
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Al 352,560

H

307 21201 A 705,120 597,996 107,124

352,560
Al 352,560
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10 AR SAAEHE2SEHIEX 705,120 597,996 107,124
OXdotsde =s&<20 XN&
705,120,000& 705,120

352,560
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= M

69,120
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375,025
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Al 363,300
10 M3 ZXNANEHI2IHES 436,200 425,400 10,800
OXGAOISHE AT S+224g A
436,200,000& 436,200
= 72,900
Al 363,300
ANSEotsdE stsMEdl X& 111,000 108,000 3,000
307 Qi2tol & 111,000 108,000 3,000
TASISXIAIE E & 111,000 108,000 3,000
OXYotsdH ssMztl XA
5,000&+1,850H 123 111,000
ZUHSE XGotsHE X2 51,600 44,400 7,200
< 15,480
Al 36,120
307 21201 A 51,600 44,400 7,200
< 15,480
Al 36,120
10 M2 SXNANEHE2IHEX 51,600 44,400 7,200
OXMHESE XNAOtsHH 29H XA
51,600,000 51,600
= 15,480
Al 36,120
NEotsdE =aAE<200 oAd X 234,000 234,000 0
301 L2 A F 234,000 234,000 0
01 MEIBE X263 234,000 234,000 0
OXgotsdH sAZ<0 el XA
300,000& 650 A x 128 234,000
Ots=XAIE SAX XA 126,000 0 126,000
< 126,000
307 21201 A 126,000 0 126,000
= 126,000
10 ALSISXAIEEE2GHEX 126,000 0 126,000
OOSLFAIE SAXR MRHAH
18,000, 000& 18,000
< 18,000
OZ2=dEIIE SAAL ML
5,400,000& 5,400
< 5,400
OOsEsdEEII& A MM
10,200, 000& 10,200
< 10,200
OXGotsdH SALA M IH&HI
92,400,000& 92,400
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< 63,009
Al 626,472
FlolseY =23 E A=Y 21,870 24,920 A 3,050
= 15,310
< 983
Al 5,577
301 gt d= 21,870 24,920 A 3,050
= 15,310
< 983
Al 5,577
01 MI2ZE 6= 21,870 24,920 A 3,050
OZMotEs g2 dFEXS ¥ 2A=H|
21,870,000 21,870
= 15,310
= 983
Al 5,577
QAots d=x XA 342,000 373,835 A 31,835
= 239,400
< 15,390
Al 87,210
301 L2 A3 342,000 373,835 A 31,835
= 239,400
< 15,390
Al 87,210
01 Ml2ZHE 6= 342,000 373,835 A 31,835
Ogdlts e 342,000,000 342,000
= 239,400
< 15,390
Al 87,210
Q- IELE Ots &l - BN Xz K& 7,400 11,331 A 3,931
= 5,180
< 333
Al 1,887
301 L2 A Z 7,400 11,331 A 3,931
= 5,180
= 333
Al 1,887
01 MBI2BZE 05z 7,400 11,331 A 3,931
OYY - JFHASOIS a2l - FA I8 N
7,400,000& 7,400
= 5,180
< 333
Al 1,887
Y=ol 22X X 3,490 1,966 1,524
=2 2,443
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Al 1,047
301 et A= 3,490 1,966 1,524
2 2,443
Al 1,047
01 Al B & A 462 3,490 1,966 1,524
Oee=HI|2t DX 3,490,000 3,490
= 2,443
Al 1,047
lerglE XI& 23,846 13,723 10,123
= 16,692
& 1,073
Al 6,081
301 et A= 23,846 13,723 10,123
= 16,692
& 1,073
Al 6,081
01 Ml EXE 452 23,846 13,723 10,123
glekyl g XI& 23,846,000 23,846
= 16,692
&< 1,073
Al 6,081
RES0ls X& 16,000 18,400 AN2,400
301 LBt A= 15,000 17,400 AN 2,400
01 AR E & A 452 15,000 17,400 N 2,400
OAaEAEHIIIE & JIER/AEOs HE/AES 2
30,000& *250H *23| 15,000
307 2Iz2t0| A 1,000 1,000 0
01 ==l 1,000 1,000 0
ORESOtE FAEESH| 20,000& x50 » 1 1,000
IIE/E0s XA 388,800 558,450 A 169,650
& 38,880
Al 349,920
301 LBt A= 388,800 558,450 A 169,650
= 38,880
Al 349,920
01 Al E & A 462 388,800 558,450 A 169,650
OJIE/EIs d=sXH 388,800,000& 388,800
o 38,880
Al 349,920
orsee X< H X 141,120 124,200 16,920
= 98,784
= 6,350
Al 35,986
301 et A= 141,120 124,200 16,920
= 98,784
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< 6,350
Al 35,986
01 ALl EE E 563 141,120 124,200 16,920
Ootsgg XNEAHE XS 141,120,000& 141,120
- 98,784
< 6,350
Al 35,986
CEAEE AIEF=A 339,199 251,807 87,392
= 216,435
Al 122,764
101 @124l 188,619 90, 341 98,278
2 95,855
Al 92,764
04 DIt 22 a2+ 188,619 90, 341 98,278
OOISSSNHIARSRR JI2H 22X oA
=]l 153,956, 000& 153,956
- 73,416
Al 80,540
OIS ESMHIAR2Q JI2H 22X 28
= 14,145,000& 14,145
= 7.987
Al 6,158
OIS ESMHIAR2 2 JZR22T SAH
Els 12,358,000& 12,358
= 6,292
Al 6,066
OEHAEE AHFA =01 (| 8,160
— gs0ll
(120,000 5% 122 )+(120,000& * 1 +3& ) 7,560
= 7,560
—WEEd 0l 100,000 »3H »23| 600
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201 LB-2d| 89,460 98,266 A 8,806
= 89,460
01 At 22l 17,330 18,685 A 1,355
OdH2IEII=ZHl 12,030, 000& 12,030
= 12,030
OSE2ME 2 OECHRT 72
3,000,000& 3,000
= 3,000
Ofdz 23 & f#HBIAE =&
2,300,000& 2,300
= 2,300
02 2324l 12,700 13,581 A 881
Oz22= & HMA 10,500, 000& 10,500
= 10,500
OAE ZHIS X 1,500, 000& 1,500
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03 S AFS H H 59,430 66,000 N6,570
OmZzz)ded 59,430,000& 59,430
= 59,430
301 Bt A= 59,120 53,000 6,120
=2 29,120
Al 30,000
01 M BEEE2G2 39,000 38,000 1,000
OJlx&s L HALXNIMBIA 39,000,000 39,000
= 9,000
Al 30,000
09 HAIAH EA= 20,120 15,000 5,120
O & AFA! H| 20,120,000& 20,120
= 20,120
405 Ko SHI 2,000 2,000 0
= 2,000
01 A&t = S F SHI 2,000 2,000 0
OHdH &II7¢ 2,000,000 2,000
= 2,000
NEAS OlsSES 4,046,768 4,227,850 A 181,082
& 1,305,053
Al 2,741,715
HelolYe ALK& 36,078 41,078 A5,000
201 et A | 1,078 1,078 0
01 At 22l ] 1,078 1,078 0
ORYENeo ¥ S ZaE HI 2 1,078
— 9T} 14,000& x70H 980
— L Xl 1,400 x70&t 98
307 212t0| & 35,000 40,000 A5,000
11 A SXNAEE X 35,000 40,000 5,000
OO elolget A 35,000, 000& 35,000
OSEX LeX 3,780 3,780 0
201 LBt A H| 3,780 3,780 0
01 At 22l ] 3,780 3,780 0
O0ls2dH ALK 3o ¢
70,000& x27H x23| 3,780
EA0S RE FEI 175,000 150,000 25,000
& 17,500
Al 157,500
301 dEtE A= 175,000 150,000 25,000
== 17,500
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01 MEIBZE 06z 175,000 150,000 25,000
A0l NHEEEHS 5,000,000& =35H 175,000
= 17,500
Al 157,500
A2EAHIE XA 240 2,710 A2,470
< 24
Al 216
301 et a3z 240 2,710 A2,470
< 24
Al 216
01 AR 2Z A 53 240 2,710 22,470
OadgAdIE XA 240,000& 240
& 24
Al 216
A2EAEINE  JIERE0s XE 102,600 105,190 A 2,590
< 10,260
Al 92,340
301 et d=s 102,600 105,190 A 2,590
= 10,260
Al 92,340
01 MEI2EZE+06l= 102,600 105,190 A 2,590
OAEAHIIE L JHESEOISE X2
102,600, 000& 102,600
< 10,260
Al 92,340
ZA0ts 24 XA (HEH0IFHE+HES) 3,475,573 3,658,497 A 182,924
< 1,042,672
Al 2,432,901
301 LAz 3,475,573 3,658,497 A 182,924
< 1,042,672
Al 2,432,901
01 MI2ZE 06z 3,475,573 3,658,497 N 182,924
OZA OIS B AR (H8H+0/ 38t 3t F)
3,475,573,000& 3,475,573
< 1,042,672
Al 2,432,901
ZAOS 34 NE(E,.2,25Y) 234,597 228,795 5,802
= 234,597
301 et A3z 234,597 228,795 5,802
< 234,597
01 Mel28HE 6= 234,597 228,795 5,802
OZASS AN (E . S, 35Y)
234,597,000 234,597
< 234,597
ZA0E SATAZHZE N 18,900 37,800 ~18,900
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450 *3,5004 x 128 18,900
N X4 1,142,750 1,136,750 6,000
nEeAH A 1,142,750 1,136,750 6,000
stps X 1,142,750 1,136,750 6,000
308 MXISHMSOIA 1,142,750 1,136,750 6,000
08 I |20 HstE = 1,142,750 1,136,750 6,000
Oxs=sud 290 N
6,000,000 x161 1 &l 966,000
OAMNE SIS W2 500,000 770 & 38,500
OfRXd s d 29| 138,250
— AMESIA 1,000,000& 770 & 77,000
— 2RI 1,250,000 490 & 61,250
HMIEAY (ES0tsH) 144,293 140,588 3,705
= 53,565
Al 90,728
ol =2 HH| 65,758 67,473 N 1,715
= 53,565
Al 12,193
C 2 AEIE OIS ESAHANIZRYA Q29| 65,758 67,473 AN1,715
= 53,565
Al 12,193
101 Q124 H| 65,758 67,473 AN1,715
= 53,565
Al 12,193
03 RIAHL*ZZXHE S 65,758 67,473 N1,715
OIS SESESAMHIAEERE 22 E olAHY|
53,332,000 53,332
= 41,725
Al 11,607
ONSEBMHIARSRY B2 B8R
4,749,000 4,749
= 4,468
Al 281
OOSEBMHAHSRY Z2A SN
4,757,000 4,757
= 4,452
Al 305
OEHAEE AIE=X L8012 (fH| 2,920
— 2504
(120,000 12« 122 )+(120, 000 12 »9& ) 2,520
= 2,520
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= 400
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201 L4l 31,115 30,035 1,080
01 At 22l 30,240 29,160 1,080
ORAM2EII=dH 30,240
— 2et=ZH| 40,0003 x28H «12& 13,440
— =2l 50,000 x28H «12& 16,800
02 2324gHl 875 875 0
OPS0lE Y2328 2@ 875
- S 1,930 3024 «12& 695
— gt 3003 x50 +12& 180
202 Odl 40,320 38,880 1,440
01 = LH 4 Hi 40,320 38,880 1,440
HERFAI20 I 120,000 28H «12& 40,320
203 YR =& 4,200 4,200 0
04 FN2EHRFT 4,200 4,200 0
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OMEAEIIFY 2,900
— AR AR 2,600,000 2,600
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